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Slope - 3 = - 1.5
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7. 9 0.15

7. 7 0.2

7.45 0.25

7. I 0.35

6.7 0.4

b.25 0.45

5.55 0.7

4.75 0.8

3.5 1.25
,

The opportunity cost of Y is increasing
0 3.5

C At point E slope = - 1.5

by = slope - ox

y
= - 1.5 - OX

OX
= O. 6

.

: The opportunity cost per unit
of y at F- b is 0.6

d if y decrease by 0.2 unit , X
will produce more by any unit

by = slope . ox

0.2 =
- 1.5 - OX

0.13
= OX
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by = slope or New slope B
= % = if

= -0.6 7×9 unit

Yd 0.6unit

- y
=
- 1.93 -OX old slope B = - 1.33 → XP unit

Ya n.sn unit

1 = OX

33

i . the opportunity cost oft decrease
0.75

= OX

Yd unit
,
XM 0.75 > Yd unit , xp as unit

but the opportunity cost oft increase


































































10- slope -

Zz
,

= - 0.5

q -

b -

slope I
3 ¢

-

2-

L '

a to do to
5

a opportunity cost of X at to
=

-z
,

b opportunity cost of x
at to = -0.5


